Smarter Balanced Assessment ltem Illustrating 6.EE.A.3

Select all of the expressions that are equivalent to 4(5x + 2y).

Ox + 6y
4(5x) + 4(2y)
20x + 8y

— 20x + 2y

4(7xy)

Answer Key
2nd and 3rd options

Elaboration on Alignment

In this item, students extend their work with properties of operations from arithmetic
[e.g., 4 x 52 is the same as 4 x (50 + 2)] to algebra [e.g., 4(5x + 2y) = 20x + 8y]. The
item sits slightly above the expectation of the standard because they not only have to
use properties of operations to determine which expressions are equivalent, but also
have to decide why others are not equivalent. In this way, it taps both the procedural
skill of 6.EE.A.3 while also attending to the understanding articulated in cluster 6.EE.A.
The multiple-select item response format is a good way to integrate the procedural
expectations of 6.EE.A.3 with MP 7, which asks students to look for and make use of
structure.

Learn More
Learn more about with the Math Assessment Iltem Alignment Professional
Development Modules.
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https://achievethecore.org/page/2886/mathematics-assessment-item-alignment-modules
https://achievethecore.org/page/2886/mathematics-assessment-item-alignment-modules

All content linked to within this resource was free for use when this resource was
published in October 2017. Over time, the organizations that manage that external
content may move or remove it or change the permissions. If the content is no
longer available, please email info@studentsachieve.net.
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